LRV N R AATE T -2

B HER RNE B HRROHE NO.2
¥EE A A 23 5 &

2 ROBIIHRRAETRNETHE IR IV,

(I){3x—y=—2
y = 2 x + |

(2) { x o=y - 4

(3) .{ y = - x + 6

4 x + 3 y = |7
(4) { y = 2 x - 3

3 x — y =5

(5) { 5 x - 2 y = |
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(1) 3 x - y = -2 -0
'{ y = 2 x + | )
QtDIRANT Bk
3 x - (2 x + |1 ) =-2
3 x - 2 x - | = -2
x = -]
x = -|
o= -1 EQIRALT,
y = =2 + | = -] x = -1, vy = -
(2) { x =y - 4 (D
2 x + 3 y =17 )
DEQITRAT B
2 (y - 4 )Y + 3 y = 17
2 y - 8 + 3 y = 7
5 y = 15
y = 3
y =3 *OIZRAL T,
x = 3 - 4 = -|
x = -1, y =3
(3) '{ y = - x + 6 D
4 x + 3 y =17 @
OrQITKRANT 3L
4 x + 3 (- x + 6 ) =17
4 x - 3 x + 18 = 17
x = -1
x = - *OITRAL T,
y = 1 + 6 = 7 x = -1, vy =17
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(4) { y = 2 x - 3 -0
3 x - y =5 @)
DEQIRANT B
3 x - (2 x - 3 ) =5
3 x - 2 x + 3 =5
x = 2
x =2  EOIKKRALT,
y = 4 - 3 = | x = 2, y =
(5) 5 «x - 2 y =1 N0,
{ 2 y = 3 x + 5 @)
QrDITKRANT B &
5 x - (3 x + 5) =1
5 x - 3 x -5 = |
2 x =6
x = 3
x = 3 %QIZRANLT,
2 y = q + 5
2 y = |4
y = x = 3, y =1
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